Practice Problem Solutions
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Range = high score — low score = 149 — 84 = 65 ounces
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Range = high score — low score = 105 — 40 = 65
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Range = high score — low score =44 — 18 = 26 years
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Range = high score — low score =45 — 15 =30 hours

— X
X = Z =ﬂ=28.75 hours
n 16

> X - 200 14628 — (460)°
n

§% = = 16 _9353
n—1 15

§= /8 = \/93.53 = 7.63 hours

Range = high score — low score = 10 — 2 = 8 hours
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Range = high score — low score =9 — 5 =4 hours
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Range = high score — low score =7 — 2 = 5 hours
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Range = high score — low score = 9.40 — 0.40 = 9.00 msec
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